treatment of missing data

control factor
ExNo. |A[B|C|D|E|F|G|H]|1|J|K] SN ratio SN ratio factor| 1 2 Average
] 1328 [ 1328 A | 136] 53] 1447 | graph of the factorial effect I
2 [1|1]1{1]{1]2]2]2]2]2]2] 026 0.26 B | 135 154 | 14.47
3 [11]2]2]2]1]1]1]2]2]2] 2348 2348 c | 117 172 | 14.47
4 [1l2]1]2]2]1]2]2][1]1]2] 931 9.31 D 8.1 20.9 | 14.47 B I
5 [1f2l2]1]2]2]1]2]{1]2]1] 1047 10.47 E | 177 11.3 | 14.47 2000 B
6 |1]2|2]2]1]2]2[1|2[1]1] 2501] | 2501 F | 145]  144] 1447 1520 7-7»7/'—/Jvéﬁw—-;
7 lal1]2]2{1]1]2]2]1]2]1] 2329 23.29 G | 176 113 1447 2 10m0 /
8 [2l1]2l1]2]2]2]1]1]1]2] 650 H | 169 120 | 1447 L ¢ _ -
o 2l 2]2l2i 2211 X 1447 I | 154 135 | 1447 @ AR LD W TR
10 2121211 (11111212112 X | J 13.8 151 | 1447 e AKE BBE2 GIC2 DDE EE2 FFE2 GGE HHE 1112 Ji2 KiK2
11 [2l2f1]2]1]2]1]1]1]2]2 29.64/ 29.64 K 15.0 139 | 1447
12 (2121 [1]2]1]2]1]2]2]1 3.45 3.45 total average 14.47
Average 1447 14.47
@in the case the SN ratios on the 9th YI— Too—
and 10th rows were not obtained . obtain factor | 1 [ 2 | 3 | Average factor| 1 | 2 | 3 |Average
: A | 136] 153 1447 1447 A | 136] 153] 14.47] 1447
and substitute the average value of the B | 135 154 1447| 1447 B | 135 154] 1447|1247
SN ratio excluding the gth and 10th rows’ C 117 17.2] 14.47 14.47 C 11,71 17.2 14.47|| 14.47
_ D 8.1 209] 1447] 1447 D | 81| 209 14.47] 1447
and draw the graph of factorial effects 1. E | 177 131447 1447 E Lizz]| 113 1447] 1447
F 145 | 144 | 1447] 1447 F | 145 144| 1447] 1447
G [L1z6] 113] 1447] 1447 G | 176] 113 1447 ] 1447
H 16.9] 12.0] 14.47| 1447 H | 169 120] 1447 ] 1447
I 154 | 135 14.47] 14.47 1 | 154 135] 1447] 1447
@Regarding the 9th and 10th rows, J_ | 138 15.1| 1447 1447 J | 138 15.1| 1447] 1447
total average 14.47 total average 14.47
control factors D, E, G, and H are set at L \

level 3 (average value of all SN ratios, this
time 14.47), and the average value is
calculated again.

|

calculate average
14.83

|

calculate average
14.22




Substitute estimated value into the 9th and 10th rows where
there were missing data, and draw the graph of factorial effects II.

control factor Oth fow
ExNo. |AlB|c|D|E|F|G[H]1]JU]K] SNEE [faftor | 1 2 3 Average
1 1111111111 [1]1 13.28 //A 13.6 15.3 | 14.47 14.47
2 1111|1122 |2|2|2]|2 0.26 /B 13.5 15.4 | 14.47 14.47
3 11112121211 [1|2|2]2 23.48 /C 11.7 17.2 | 1447 14.47
4 112111212122 (1|1]2 9.31 D 8.1 209 | 14.47 14.47
5 11212111221 |2|1|2]1 10.47 E 17.7 11.3 | 14.47 14.47
6 1121212112121 |2|1]1 25.01 F 14.5 144 | 14.47 14.47
7 2111212111122 1|2]|1 23.29 G 17.6 11.3 | 14.47 14.47
8 2111211121221 1[1]2 6.5Q/ H 16.9 12.0 | 14.47 14.47
9 313[3[2(2|3[1]2]3]|3]3 14.8; I 15.4 13.5 | 14.47 14.47
10 313[3|1[1]3|1]2]3]|3]3 14.22 J 13.8 15.1 | 14.47 14.47
11 2121112111211 [1]|1]|2]2 29.64 K 15.0 13.9 | 14.47 14.47
12 2121111211121 ]|2|2]|1 3.45 total average 14.47
Average 14.48
graph of the factorial effect I
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10th row

factor| 1 2 3 Average
A 13.6 [ 15.3 | 14.47 | 14.47
B 13.5 | 15.4 | 1447 | 1447
C 11.7( 17.2 | 1447 | 14.47
D 8.1 209 1447 | 1447
E 177 | 11.3| 1447 | 14.47
F 145 14.4 | 1447 | 1447
G 176 | 11.3 | 1447 | 14.47
H 16.9 [ 120 | 14.47 | 14.47
I 154 ] 135 | 1447 | 14.47
J 13.8 [ 15.1 1447 | 14.47
K 15.0 ] 13.9 | 14.47 | 14.47
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total average

14.47




